Metropolis-Montecarlo

for(i=0;i<N;i++)
{
p = myrand();
X = trial(x0);
w = exp(-0.5%(x*x-x0*x0));

If (p<w) x0 = Xx;

If (1%100==0) printf("%If\n",x0),



double myrand()

{
double p;

p = (double)rand()/(double)RAND_MAX;

return p;

}

double trial(double x0)
{

double p,x;
p = myrand();
X = 2.0*DELTA*(p-0.5)+x0;

return Xx;

}



0 = 1.0 (uncorrelated)
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0 = 0.1 (uncorrelated)
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Correlation
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int correlation(double *c,double *x,int n)

{
int ik
double xi,xk,s0,51,s2:

for (k=0:k<n:k++)

{
sO = 0.0:
sl =0.0;
s2 = 0.0;
for (i=0;:i<N-n:i++)
{
Xi = *(x+1):

xk = *(x+i1+Kk):;

sl += xi/(double)(N-n);
sO += xi*xk/(double)(N-n);
s2 += xi*xi/(double)(N-n);

}

*(c+k) = (s0-s1*s1)/(s2-s1*s1);
}

return 1;

}
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6 = 0.1 (N = 10000 correlated)
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6 = 1.0 (N = 10000 uncorrelated)
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